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Attempt all questions.
Marks are indicated against each question.
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Calculate price elasticity of demand for a
|- Movement from point B to point D and from point
to midway between them.
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your demand (S‘O,nthly income (Y) is Rs. 1000, |
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Exp]ain the Law of Varia
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Suppose, when price of Pepsi is 20 Rs. per bottle
then demand for Coke is 40 bottles. If price of
Pepsi rises tO 25 Rs. per bottle, then demand for
Coke goes up to 50 bottles. What will be the cross

elasticity of demand for Coke?
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(2) Expl |
Explain Social cost, Opportunity cost and Sunk |

. Cost.
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(b) Expl
Explain the relauonshlp between AC and MC
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Monopoly market,
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' (a) What are the properties of indifference
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diagrammatically the concept of
Economic Rent.
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What are the causes for the existen
oligopolistic firm in the market"
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Explain factor price differentials.
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For Visually Challenged Candidates Only.

Attempt any five questions. Each question
carries equal marks.

f demand and

Explam factors affecting elasticity ©

lastlclty of supply.
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(b) Explam the income and substitution effect Wlth |
'the indifference curves. ﬂ |
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3. Explain Price Consum
Demand Curve from PCC.
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4. Explam the mcreasm
. Teturns to scale.
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> Write short notes on any iwo Qf
(@) Product Differengiatlon
T
(b) Concept of Excess Capacity

(c) Shut Down Point

opoly.
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